

# On the Oscillation of Higher Order Neutral Difference Equations of Mixed Type

Ravi P. Agarwal<sup>1</sup>, Said R. Grace<sup>2</sup> and Elvan Akin-Bohner<sup>3</sup>

<sup>1</sup>Department of Mathematical Sciences, Florida Institute of Technology, Melbourne, FL 32901-6975, U.S.A. e-mail: agarwal@fit.edu

<sup>2</sup>Department of Engineering Mathematics, Faculty of Engineering, Cairo University, Orman, Giza 12221, Egypt. e-mail: srgrace@alpha1-eng.cairo.eun.eg

<sup>3</sup>Department of Mathematics and Statistics, University of Nebraska-Lincoln, Lincoln, NE 68588-0323, U.S.A. e-mail: eakin@math.unl.edu

**Abstract.** In this paper we shall establish some new criteria for the oscillation of neutral difference equations of the form

$$\Delta^m (x(k) + ax[k - \tau] + bx[k + \sigma]) + qx[k - g] + px[k + h] = 0,$$

where  $m \geq 1$  is an integer,  $a, b$  are real constants,  $p, q$  are nonnegative real constants, and  $\tau, \sigma, g, h$  are nonnegative integers. We shall employ a new technique which is based on the characteristic equation associated with the equation under consideration. Our results require weaker conditions than those provided earlier in [2].

**Keywords and Phrases:** Oscillation, neutral, difference, characteristic equation, higher order.

**AMS Subject Classification:** 39A10.

## 1. Introduction

In this paper we shall consider the higher order neutral difference equations

$$\Delta^m (x(k) + ax[k - \tau] - bx[k + \sigma]) + qx[k - g] + px[k + h] = 0, \quad (1.1)$$

$$\Delta^m (x(k) - ax[k - \tau] + bx[k + \sigma]) + qx[k - g] + px[k + h] = 0, \quad (1.2)$$

$$\Delta^m (x(k) + ax[k - \tau] + bx[k + \sigma]) + qx[k - g] + px[k + h] = 0 \quad (1.3)$$

and

$$\Delta^m (x(k) - ax[k - \tau] - bx[k + \sigma]) + qx[k - g] + px[k + h] = 0, \quad (1.4)$$

where  $m \geq 1$  is an integer,  $\tau, \sigma, g, h$  are nonnegative integers, and  $a, b, p, q$  are nonnegative real constants.

Let  $\Delta$  be the first order forward difference operator  $\Delta x(k) = x(k+1) - x(k)$  and for  $i \geq 1$ ,  $\Delta^i$  be the  $i$ th order forward difference operator  $\Delta^i x(k) = \Delta(\Delta^{i-1} x(k))$ . A solution  $\{x(k)\}$  of equation (1.j),  $j=1, 2, 3$ , or 4 is said to *oscillate* if for every  $n_0 \geq 0$  there exists

$n \geq n_0$  such that  $x(n)x(n+1) \leq 0$ . Otherwise the solution is called *nonoscillatory*. Equation (1.j),  $j=1, 2, 3$ , or 4 is called *oscillatory* if all its solutions are oscillatory.

Recently, there has been a lot of interest in the oscillations of difference equations. For recent contribution, we refer to the papers [2,4-8]. For the general theory of difference equations the reader is referred to the monographs [1,3,9,10]. The purpose of this paper is to establish some new easily verifiable sufficient conditions, involving the coefficients and the arguments only under which all solutions of equation (1.j),  $j=1, 2, 3$ , or 4 are oscillatory. The technique employed here is based on the study of the characteristic equations

$$F_1(\lambda) := (\lambda - 1)^m [1 + a\lambda^{-\tau} - b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0, \quad (1.5)$$

$$F_2(\lambda) := (\lambda - 1)^m [1 - a\lambda^{-\tau} + b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0, \quad (1.6)$$

$$F_3(\lambda) := (\lambda - 1)^m [1 + a\lambda^{-\tau} + b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0 \quad (1.7)$$

and

$$F_4(\lambda) := (\lambda - 1)^m [1 - a\lambda^{-\tau} - b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0 \quad (1.8)$$

associated to equations (1.j),  $j=1, 2, 3, 4$  respectively.

## 2. Main Results

The following lemma, which will be employed in the proofs of our oscillation results is extracted from [9,10].

LEMMA 2.1. Consider the linear difference equation

$$x(k+m) + \sum_{j=1}^m q(j)x[k+m-j] = 0, \quad (2.1)$$

for  $k = 0, 1, \dots$  where  $m$  is a nonnegative integer and  $q(j) \in \mathbb{R}$ ,  $j = 1, 2, \dots, m$ . Then the following statements are equivalent:

(I<sub>1</sub>). Every solution of (2.1) oscillates.

(I<sub>2</sub>). The characteristic equation associated with (2.1)

$$\lambda^m + \sum_{j=1}^m q(j)\lambda^{m-j} = 0$$

has no positive roots.

First, we study the oscillatory behavior of equations (1.1) and (1.2), where  $g, h, \tau, \sigma$  are nonnegative integers,  $a, b$  are nonnegative real constants, and  $p, q$  are positive real constants.

THEOREM 2.1. Assume that  $b > 0$ ,  $h > \sigma + m$  and  $g > \tau$ . Moreover, suppose that

$$p \frac{(h - \sigma)^{h - \sigma}}{m^m (h - \sigma - m)^{h - \sigma - m}} > b, \quad (2.2)$$

$$q \frac{(g - \tau + m)^{g - \tau + m}}{m^m (g - \tau)^{g - \tau}} > 1 + a \quad \text{if } m \text{ is odd} \quad (2.3)$$

and

$$q \frac{(g + \sigma + m)^{g + \sigma + m}}{m^m (g + \sigma)^{g + \sigma}} > b - a - 1 \quad \text{if } m \text{ is even.} \quad (2.4)$$

Then (1.1) is oscillatory.

**PROOF.** Our strategy is to prove that under the hypotheses given above the characteristic equation (1.5) of (1.1) has no positive roots. There are three possible cases to consider:

Case 1.  $m$  is even or odd and  $\lambda > 1$ . For  $\lambda \neq 1$ , we have

$$\frac{F_1(\lambda)}{(\lambda-1)^m} \lambda^{-\sigma} = \frac{q\lambda^{-(g+\sigma)} + p\lambda^{h-\sigma}}{(\lambda-1)^m} + \lambda^{-\sigma} + a\lambda^{-(\tau+\sigma)} - b \geq p \frac{\lambda^{h-\sigma}}{(\lambda-1)^m} - b. \quad (2.5)$$

Since the minimum of  $f_1(x) = x^\alpha/(x-1)^\beta$ ,  $\alpha > \beta$  and  $x > 1$  occurs at  $x = \alpha/(\alpha - \beta)$ , we find

$$\frac{F_1(\lambda)}{(\lambda-1)^m} \lambda^{-\sigma} \geq p \frac{\left(\frac{h-\sigma}{h-\sigma-m}\right)^{h-\sigma}}{\left(\frac{m}{h-\sigma-m}\right)^m} - b > 0.$$

Case 2.  $m$  is odd and  $0 < \lambda < 1$ . In this case we have

$$\begin{aligned} -\frac{F_1(\lambda)}{(\lambda-1)^m} \lambda^\tau &= -\left(\frac{q\lambda^{-(g-\tau)} + p\lambda^{\tau+\sigma}}{(\lambda-1)^m}\right) - (\lambda^\tau + a - b\lambda^{\tau+\sigma}) \\ &= \frac{q\lambda^{-(g-\tau)} + p\lambda^{\tau+\sigma}}{(1-\lambda)^m} - (\lambda^\tau + a - b\lambda^{\tau+\sigma}) \\ &\geq q \frac{\lambda^{-(g-\tau)}}{(1-\lambda)^m} - \lambda^\tau - a \geq q \frac{\lambda^{\tau-g}}{(1-\lambda)^m} - 1 - a \geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - 1 - a > 0, \end{aligned}$$

since the minimum of the function  $f_2(x) = x^{-\alpha}/(1-x)^\beta$  occurs at  $x = \alpha/(\alpha + \beta)$  where  $\alpha$  and  $\beta$  are positive constants.

Case 3.  $m$  is even and  $0 < \lambda < 1$ . It follows from (2.5) that

$$\frac{F_1(\lambda)}{(\lambda-1)^m} \lambda^{-\sigma} \geq q \frac{\lambda^{-(g+\sigma)}}{(1-\lambda)^m} + \lambda^{-\sigma} + a\lambda^{-(\tau+\sigma)} - b.$$

As in Case 2, we see that

$$\frac{F_1(\lambda)}{(\lambda-1)^m} \lambda^{-\sigma} \geq q \frac{\left(\frac{g+\sigma}{g+\sigma+m}\right)^{-(g+\sigma)}}{\left(\frac{m}{g+\sigma+m}\right)^m} + 1 + a - b > 0.$$

Cases 1-3 and  $F_1(\lambda) > 0$  on  $(0, 1) \cup (1, \infty)$  and  $F_1(1) > 0$  imply  $F_1(\lambda) > 0$  for  $\lambda \in \mathbb{R}^+ = (0, \infty)$ , i.e., (1.5) has no positive roots. By Lemma 2.1 we conclude that (1.1) is oscillatory. This completes the proof. ■

**THEOREM 2.2.** Assume that  $a > 0$ ,  $\tau + h > m$  and  $g > \tau$ . Moreover, suppose that

$$p \frac{(h + \tau)^{h+\tau}}{m^m (h + \tau - m)^{h+\tau-m}} > a, \quad (2.6)$$

$$q \frac{(g + m)^{g+m}}{m^m g^g} > 1 + b \quad \text{if } m \text{ is odd} \quad (2.7)$$

and

$$q \frac{(g - \tau + m)^{g-\tau+m}}{m^m (g - \tau)^{g-\tau}} > a \quad \text{if } m \text{ is even.} \quad (2.8)$$

Then (1.2) is oscillatory.

PROOF. For  $\lambda \neq 1$  we have

$$\frac{F_2(\lambda)\lambda^\tau}{(\lambda-1)^m} = (\lambda^\tau - a + b\lambda^{\tau+\sigma}) + \frac{q\lambda^{\tau-g} + p\lambda^{\tau+h}}{(\lambda-1)^m}. \quad (2.9)$$

Now we consider the following three cases:

Case 1.  $m$  is even or odd and  $\lambda > 1$ . From (2.9) we find

$$\frac{F_2(\lambda)\lambda^\tau}{(\lambda-1)^m} \geq p \frac{\lambda^{\tau+h}}{(\lambda-1)^m} - a,$$

and since the function  $f_1(x) = x^\alpha/(x-1)^\beta$ ,  $x > 1$  and  $\alpha > \beta$  has its minimum value at  $x = \alpha/(\alpha - \beta)$ , we find

$$\frac{F_2(\lambda)\lambda^\tau}{(\lambda-1)^m} \geq p \frac{\left(\frac{\tau+h}{\tau+h-m}\right)^{\tau+h}}{\left(\frac{m}{\tau+h-m}\right)^m} - a > 0.$$

Case 2.  $m$  is odd and  $0 < \lambda < 1$ . In this case we have

$$-\frac{F_2(\lambda)}{(\lambda-1)^m} = \frac{F_2(\lambda)}{(1-\lambda)^m} = \frac{q\lambda^{-g} + p\lambda^h}{(1-\lambda)^m} - (1 - a\lambda^{-\tau} + b\lambda^\sigma)$$

and hence

$$\frac{F_2(\lambda)}{(1-\lambda)^m} \geq \frac{q\lambda^{-g}}{(1-\lambda)^m} - 1 - b\lambda^\sigma.$$

Since the minimum of the function  $f_2(x) = x^{-\alpha}/(1-x)^\beta$ ,  $0 < x < 1$  occurs at  $x = \alpha/(\alpha + \beta)$ , we conclude that

$$\frac{F_2(\lambda)}{(1-\lambda)^m} \geq q \frac{\left(\frac{g}{g+m}\right)^{-g}}{\left(\frac{m}{g+m}\right)^m} - 1 - b > 0.$$

Case 3.  $m$  is even and  $0 < \lambda < 1$ . From (2.9), we have

$$\frac{F_2(\lambda)\lambda^\tau}{(\lambda-1)^m} = \frac{F_2(\lambda)\lambda^\tau}{(1-\lambda)^m} \geq q \frac{\lambda^{-(g-\tau)}}{(1-\lambda)^m} + \lambda^\tau - a + b\lambda^{\tau+\sigma} \geq q \frac{\lambda^{-(g-\tau)}}{(1-\lambda)^m} - a.$$

As in Case 2, we have

$$\frac{F_2(\lambda)\lambda^\tau}{(1-\lambda)^m} \geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - a > 0.$$

From Cases 1-3 and  $F_2(1) > 0$  we can conclude that  $F_2(\lambda) > 0$  for  $\lambda \in \mathbb{R}^+$ , i.e., (1.6) has no positive roots. Thus, the conclusion of the theorem follows by Lemma 2.1. ■

**COROLLARY 2.1.** Let  $m$  be odd,  $0 < a \leq 1$  and condition (2.7) hold. Then (1.2) is oscillatory.

**PROOF.** Assume  $\lambda \geq 1$ . Since  $m$  is odd and  $0 < a \leq 1$ , it follows that  $F_2(\lambda) > 0$ . Assume  $0 < \lambda < 1$ , then as in the proof of Theorem 2.2 we see that  $F_2(\lambda) > 0$ . By applying Lemma 2.1 we can complete the proof. ■

Next, we consider the mixed equations which are of the same form as (1.1) and (1.2), namely,

$$\Delta^m (x(k) + ax[k - \tau] - bx[k - \sigma]) + qx[k - g] + px[k + h] = 0, \tag{2.10}$$

and

$$\Delta^m (x(k) - ax[k + \tau] + bx[k + \sigma]) + qx[k - g] + px[k + h] = 0, \tag{2.11}$$

where  $a, b$  are nonnegative real constants,  $g, h, \tau, \sigma$  are nonnegative integers and  $p, q$  are positive real constants.

The characteristic equations of (2.10) and (2.11) are respectively:

$$F_5(\lambda) := (\lambda - 1)^m [1 + a\lambda^{-\tau} - b\lambda^{-\sigma}] + q\lambda^{-g} + p\lambda^h = 0 \tag{2.12}$$

and

$$F_6(\lambda) := (\lambda - 1)^m [1 - a\lambda^\tau + b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0. \tag{2.13}$$

Now, we present the following oscillation criterion for (2.10).

**THEOREM 2.3.** Assume that  $b - a - 1 > 0$ ,  $h + \sigma > m$  and  $g > \sigma \geq \tau$ . Moreover, suppose that

$$p \frac{(h + \sigma)^{h+\sigma}}{m^m (h + \sigma - m)^{h+\sigma-m}} > b - a - 1, \tag{2.14}$$

$$q \frac{(g - \tau + m)^{g-\tau+m}}{m^m (g - \tau)^{g-\tau}} > a + 1 \text{ if } m \text{ is odd} \tag{2.15}$$

and

$$q \frac{(g - \sigma + m)^{g-\sigma+m}}{m^m (g - \sigma)^{g-\sigma}} > b \text{ if } m \text{ is even.} \tag{2.16}$$

Then (2.10) is oscillatory.

**PROOF.** For  $\lambda \neq 1$  we have

$$\frac{F_5(\lambda)\lambda^\sigma}{(\lambda - 1)^m} = (\lambda^\sigma + a\lambda^{-\tau+\sigma} - b) + \frac{q\lambda^{-g+\sigma} + p\lambda^{h+\sigma}}{(\lambda - 1)^m}. \tag{2.17}$$

Now, we consider the following three cases:

Case 1.  $m$  is even or odd and  $\lambda > 1$ . From (2.17), it follows that

$$\frac{F_5(\lambda)\lambda^\sigma}{(\lambda - 1)^m} \geq p \frac{\lambda^{h+\sigma}}{(\lambda - 1)^m} + \lambda^\sigma + a\lambda^{\sigma-\tau} - b$$

As in the proof of Theorem 2.1-Case 1, we have

$$\frac{F_5(\lambda)\lambda^\sigma}{(\lambda - 1)^m} \geq p \frac{\left(\frac{h+\sigma}{h+\sigma-m}\right)^{h+\sigma}}{\left(\frac{m}{h+\sigma-m}\right)^m} + 1 + a - b > 0.$$

Case 2.  $m$  is odd and  $0 < \lambda < 1$ . In this case we have

$$\begin{aligned} -\frac{F_5(\lambda)\lambda^\tau}{(\lambda - 1)^m} &= \frac{F_5(\lambda)\lambda^\tau}{(1 - \lambda)^m} = \frac{q\lambda^{\tau-g} + p\lambda^{h+\tau}}{(1 - \lambda)^m} - \lambda^\tau - a + b\lambda^{\tau-\sigma} \\ &\geq q \frac{\lambda^{-(g-\tau)}}{(1 - \lambda)^m} - 1 - a \geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - 1 - a > 0. \end{aligned}$$

Case 3.  $m$  is even and  $0 < \lambda < 1$ . From (2.17), it follows that

$$\frac{F_5(\lambda)\lambda^\sigma}{(1-\lambda)^m} \geq q \frac{\lambda^{-(g-\sigma)}}{(1-\lambda)^m} + \lambda^\sigma + a\lambda^{\sigma-\tau} - b \geq q \frac{\left(\frac{g-\sigma}{g-\sigma+m}\right)^{-(g-\sigma)}}{\left(\frac{m}{g-\sigma+m}\right)^m} - b > 0.$$

The rest of the proof is similar to that of Theorem 2.1 and hence omitted.  $\blacksquare$

**THEOREM 2.4.** Assume that  $a > b$ ,  $a > 1$ ,  $\sigma > \tau$  and  $h - \tau > m$ . If

$$p \frac{(h-\tau)^{h-\tau}}{m^m(h-\tau-m)^{h-\tau-m}} > a - b, \quad (2.18)$$

$$q \frac{(g+m)^{g+m}}{m^m g^g} > 1 + b \quad \text{when } m \text{ is odd} \quad (2.19)$$

and

$$q \frac{(g+\tau+m)^{g+\tau+m}}{m^m(g+\tau)^{g+\tau}} > a - 1 \quad \text{when } m \text{ is even}, \quad (2.20)$$

then (2.11) is oscillatory.

**PROOF.** For  $\lambda \neq 1$  we find

$$\frac{F_6(\lambda)\lambda^{-\tau}}{(\lambda-1)^m} = (\lambda^{-\tau} - a + b\lambda^{\sigma-\tau}) + \frac{q\lambda^{-(g+\tau)} + p\lambda^{h-\tau}}{(\lambda-1)^m}. \quad (2.21)$$

Now, we consider the following three cases:

Case 1.  $m$  is even or odd and  $\lambda > 1$ . In this case we have

$$\frac{F_6(\lambda)\lambda^{-\tau}}{(\lambda-1)^m} \geq p \frac{\lambda^{h-\tau}}{(\lambda-1)^m} + \lambda^{-\tau} - a + b\lambda^{\sigma-\tau} \geq p \frac{\left(\frac{h-\tau}{h-\tau-m}\right)^{h-\tau}}{\left(\frac{m}{h-\tau-m}\right)^m} - a + b > 0.$$

Case 2.  $m$  is odd and  $0 < \lambda < 1$ . From (2.13), we have

$$\begin{aligned} -\frac{F_6(\lambda)}{(\lambda-1)^m} &= \frac{F_6(\lambda)}{(1-\lambda)^m} = \frac{q\lambda^{-g} + p\lambda^h}{(1-\lambda)^m} - 1 + a\lambda^\tau - b\lambda^\sigma \\ &\geq q \frac{\lambda^{-g}}{(1-\lambda)^m} - 1 - b \geq q \frac{\left(\frac{g}{g+m}\right)^{-g}}{\left(\frac{m}{g+m}\right)^m} - 1 - b > 0. \end{aligned}$$

Case 3.  $m$  is even and  $0 < \lambda < 1$ . It follows from (2.21) that

$$\frac{F_6(\lambda)\lambda^{-\tau}}{(\lambda-1)^m} = \frac{F_6(\lambda)\lambda^{-\tau}}{(1-\lambda)^m} \geq q \frac{\lambda^{-(g+\tau)}}{(1-\lambda)^m} + \lambda^{-\tau} - a + b\lambda^{\sigma-\tau} \geq q \frac{\left(\frac{g+\tau}{g+\tau+m}\right)^{-(g+\tau)}}{\left(\frac{m}{g+\tau+m}\right)^m} + 1 - a > 0.$$

The rest of the proof is similar to that of Theorem 2.1 and hence omitted.

Next, we consider (1.3), where  $a, b, p$  are nonnegative real constants,  $q$  is a positive constant,  $g$  is a positive integer and  $h, \tau, \sigma$  are nonnegative integers. In fact, the case when  $m$  is even is obvious. Therefore, we shall only consider (1.3) when  $m$  is odd and present the following result.

**THEOREM 2.5.** Suppose  $m$  is odd and  $g > \tau$ . If

$$q \frac{(g-\tau+m)^{g-\tau+m}}{m^m(g-\tau)^{g-\tau}} > 1 + a + b, \quad (2.22)$$

then (1.3) is oscillatory.

**PROOF.** Since  $m$  is odd, it follows that  $F_3(\lambda) > 0$  for  $\lambda > 1$ . Hence it remains to prove that  $F_3(\lambda) > 0$  holds also for  $0 < \lambda < 1$ . Indeed

$$\begin{aligned} -\frac{F_3(\lambda)\lambda^\tau}{(\lambda-1)^m} &= \frac{F_3(\lambda)\lambda^\tau}{(1-\lambda)^m} = \frac{q\lambda^{-(g-\tau)} + p\lambda^{h+\tau}}{(1-\lambda)^m} - \lambda^\tau - a - b\lambda^{\tau+\sigma} \\ &\geq \frac{q\lambda^{-(g-\tau)}}{(1-\lambda)^m} - (1+a+b) \geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - (1+a+b) > 0. \end{aligned}$$

Thus,  $F_3(\lambda) > 0$  for all  $\lambda \in \mathbb{R}^+$ , i.e., (1.7) has no positive roots. So, the conclusion of the theorem follows from Lemma 2.1. ■

Next, we consider the neutral difference equations which are of the same type as (1.3), namely

$$\Delta^m(x(k) + ax[k-\tau] + bx[k-\sigma]) + qx[k-g] + px[k+h] = 0 \tag{2.23}$$

and

$$\Delta^m(x(k) + ax[k+\tau] + bx[k+\sigma]) + qx[k-g] + px[k+h] = 0, \tag{2.24}$$

where the coefficients  $a, b, p$  and  $q$  and the deviations  $\tau, \sigma, g$  and  $h$  are as in (1.3). The characteristic equations of (2.23) and (2.24) are respectively

$$F_7(\lambda) := (\lambda-1)^m [1 + a\lambda^{-\tau} + b\lambda^{-\sigma}] + q\lambda^{-g} + p\lambda^h = 0 \tag{2.25}$$

and

$$F_8(\lambda) := (\lambda-1)^m [1 + a\lambda^\tau + b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0. \tag{2.26}$$

**THEOREM 2.6.** Assume  $m$  is odd and  $g > \tau \geq \sigma$ . If condition (2.22) holds, then (2.23) is oscillatory.

**PROOF.** As in the proof of Theorem 2.5, we only need to show that  $F_7(\lambda) > 0$  for  $0 < \lambda < 1$ . From (2.25) it follows that

$$-\frac{F_7(\lambda)\lambda^\tau}{(\lambda-1)^m} = \frac{F_7(\lambda)\lambda^\tau}{(1-\lambda)^m} = \frac{q\lambda^{-(g-\tau)} + p\lambda^{h+\tau}}{(1-\lambda)^m} - (\lambda^\tau + a + b\lambda^{\tau-\sigma}) \geq \frac{q\lambda^{-(g-\tau)}}{(1-\lambda)^m} - (1+a+b).$$

The rest of the proof is similar to that of Theorem 2.5 and hence omitted. ■

**THEOREM 2.7.** If  $m$  is odd and

$$q \frac{(g+m)^{g+m}}{m^m g^g} > 1 + a + b. \tag{2.27}$$

then (2.24) is oscillatory.

**PROOF.** It suffices to prove that  $F_8(\lambda) > 0$  for  $0 < \lambda < 1$ . From (2.26), it follows that

$$-\frac{F_8(\lambda)}{(\lambda-1)^m} = \frac{F_8(\lambda)}{(1-\lambda)^m} = \frac{q\lambda^{-g} + p\lambda^h}{(1-\lambda)^m} - (1 + a\lambda^\tau + b\lambda^\sigma) \geq \frac{q\lambda^{-g}}{(1-\lambda)^m} - (1+a+b).$$

The rest of the proof is similar to that of Theorem 2.5 and hence omitted. ■

Next, we consider (1.4), where  $a, b$  are nonnegative real numbers and  $a + b > 0$ ,  $p, q$  are positive real numbers,  $\tau, \sigma$  are nonnegative integers and  $g, h$  are positive integers.

**THEOREM 2.8.** Suppose that  $g > \tau$  and  $h > \sigma + m$ . If

$$p \frac{(h - \sigma)^{h - \sigma}}{m^m (h - \sigma - m)^{h - \sigma - m}} > a + b, \quad (2.28)$$

$$q \frac{(g + m)^{g + m}}{m^m g^g} > 1 - a \quad \text{when } m \text{ is odd} \quad (2.29)$$

and

$$q \frac{(g - \tau + m)^{g - \tau + m}}{m^m (g - \tau)^{g - \tau}} > a + b \quad \text{when } m \text{ is even,} \quad (2.30)$$

then (1.4) is oscillatory.

**PROOF.** For  $\lambda \neq 1$ , we have

$$\frac{F_4(\lambda)\lambda^{-\sigma}}{(\lambda - 1)^m} = \frac{q\lambda^{-(g+\sigma)} + p\lambda^{h-\sigma}}{(\lambda - 1)^m} + \lambda^{-\sigma} - a\lambda^{-(\tau+\sigma)} - b. \quad (2.31)$$

Now, we consider the following three cases:

**Case 1.**  $m$  is even or odd and  $\lambda > 1$ . From (2.31), it follows that

$$\frac{F_4(\lambda)\lambda^{-\sigma}}{(\lambda - 1)^m} \geq p \frac{\lambda^{h-\sigma}}{(\lambda - 1)^m} + \lambda^{-\sigma} - a\lambda^{-(\tau+\sigma)} - b \geq p \frac{\left(\frac{h-\sigma}{h-\sigma-m}\right)^{h-\sigma}}{\left(\frac{m}{h-\sigma-m}\right)^m} - a - b > 0.$$

**Case 2.**  $m$  is odd and  $0 < \lambda < 1$ . In this case we have

$$\begin{aligned} -\frac{F_4(\lambda)}{(\lambda - 1)^m} &= \frac{F_4(\lambda)}{(1 - \lambda)^m} = \frac{q\lambda^{-g} + p\lambda^h}{(1 - \lambda)^m} - (1 - a\lambda^{-\tau} - b\lambda^\sigma) \\ &\geq q \frac{\lambda^{-g}}{(1 - \lambda)^m} - (1 - a\lambda^{-\tau} - b\lambda^\sigma) \geq q \frac{\left(\frac{g}{g+m}\right)^{-g}}{\left(\frac{m}{g+m}\right)^m} - 1 + a > 0. \end{aligned}$$

**Case 3.**  $m$  is even and  $0 < \lambda < 1$ . In this case, we have

$$\begin{aligned} \frac{F_4(\lambda)\lambda^\tau}{(\lambda - 1)^m} &= \frac{F_4(\lambda)\lambda^\tau}{(1 - \lambda)^m} = \frac{q\lambda^{-(g-\tau)} + p\lambda^{h+\tau}}{(1 - \lambda)^m} + \lambda^\tau - a - b\lambda^{\tau+\sigma} \\ &\geq q \frac{\lambda^{-(g-\tau)}}{(1 - \lambda)^m} + \lambda^\tau - a - b\lambda^{\tau+\sigma} \geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - a - b > 0. \end{aligned}$$

Cases 1 - 3 and  $F_4(1) > 0$  imply  $F_4(\lambda) > 0$  for  $\lambda \in \mathbb{R}^+$ , i.e., (1.8) has no positive roots. The result follows by applying Lemma 2.1. This completes the proof. ■

**REMARK 2.1.** Since the function  $f(x) = ax^{-\tau} + bx^\sigma$ ,  $0 < x < 1$  and  $0 < (a\tau)/(b\sigma) < 1$  has a local minimum at  $x = ((a\tau)/(b\sigma))^{1/(\tau+\sigma)}$ , we see that condition (2.29) can be replaced by the following weaker condition, namely,

$$q \frac{(g + m)^{g + m}}{m^m g^g} > 1 - a \left(\frac{a\tau}{b\sigma}\right)^{-\tau/(\tau+\sigma)} - b \left(\frac{a\tau}{b\sigma}\right)^{\sigma/(\tau+\sigma)}.$$

The other conditions can be improved similarly. The details are left to the reader.

Finally, we consider equations of the same type as (1.4), namely,

$$\Delta^m (x(k) - ax[k - \tau] - bx[k - \sigma]) + qx[k - g] + px[k + h] = 0 \quad (2.33)$$



and

$$\Delta^m (x(k) - ax[k + \tau] - bx[k + \sigma]) + qx[k - g] + px[k + h] = 0, \quad (2.34)$$

where the coefficients  $a$ ,  $b$ ,  $p$ ,  $q$  and the deviations  $g$ ,  $h$ ,  $\tau$ ,  $\sigma$  are as in (1.4). The characteristic equations of (2.33) and (2.34) are respectively,

$$F_9(\lambda) := (\lambda - 1)^m [1 - a\lambda^{-\tau} - b\lambda^{-\sigma}] + q\lambda^{-g} + p\lambda^h = 0 \quad (2.35)$$

and

$$F_{10}(\lambda) := (\lambda - 1)^m [1 - a\lambda^\tau - b\lambda^\sigma] + q\lambda^{-g} + p\lambda^h = 0. \quad (2.36)$$

**THEOREM 2.9.** Suppose that  $g > \tau \geq \sigma$  and  $h + \sigma > m$ . If

$$p \frac{(h + \sigma)^{h + \sigma}}{m^m (h + \sigma - m)^{h + \sigma - m}} > a + b - 1, \quad (2.37)$$

$$q \frac{(g + m)^{g + m}}{m^m g^g} > 1 - a - b \quad \text{when } m \text{ is odd} \quad (2.38)$$

and

$$q \frac{(g - \tau + m)^{g - \tau + m}}{m^m (g - \tau)^{g - \tau}} > a + b \quad \text{when } m \text{ is even}, \quad (2.39)$$

then (2.33) is oscillatory.

**PROOF.** For  $\lambda \neq 1$ , we have

$$\frac{F_9(\lambda)\lambda^\sigma}{(\lambda - 1)^m} = \frac{q\lambda^{-(g-\sigma)} + p\lambda^{h+\sigma}}{(\lambda - 1)^m} + \lambda^\sigma - a\lambda^{-(\tau-\sigma)} - b. \quad (2.40)$$

Once again, we consider the following three cases:

Case 1.  $m$  is even or odd and  $\lambda > 1$ . In this case, we obtain

$$\frac{F_9(\lambda)\lambda^\sigma}{(\lambda - 1)^m} \geq p \frac{\lambda^{h+\sigma}}{(\lambda - 1)^m} + 1 - a - b \geq p \frac{\left(\frac{h+\sigma}{h+\sigma-m}\right)^{h+\sigma}}{\left(\frac{m}{h+\sigma-m}\right)^m} + 1 - a - b > 0.$$

Case 2.  $m$  is odd and  $0 < \lambda < 1$ . From (2.35), it follows that

$$\begin{aligned} -\frac{F_9(\lambda)}{(\lambda - 1)^m} &= \frac{F_9(\lambda)}{(1 - \lambda)^m} = \frac{q\lambda^{-g} + p\lambda^h}{(1 - \lambda)^m} - 1 + a\lambda^{-\tau} + b\lambda^{-\sigma} \\ &\geq q \frac{\lambda^{-g}}{(1 - \lambda)^m} - 1 + a + b \geq q \frac{\left(\frac{g}{g+m}\right)^{-g}}{\left(\frac{m}{g+m}\right)^m} - 1 + a + b > 0. \end{aligned}$$

Case 3.  $m$  is even and  $0 < \lambda < 1$ . In this case, we find

$$\begin{aligned} \frac{F_9(\lambda)\lambda^\tau}{(\lambda - 1)^m} &= \frac{q\lambda^{-(g-\tau)} + p\lambda^{h+\tau}}{(1 - \lambda)^m} + \lambda^\tau - a - b\lambda^{\tau-\sigma} \geq q \frac{\lambda^{-(g-\tau)}}{(1 - \lambda)^m} - a - b \\ &\geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - a - b > 0. \end{aligned}$$

The rest of the proof is similar to that of Theorem 2.3 and hence omitted. ■

**THEOREM 2.10.** Suppose that  $h > \sigma + m$ ,  $\sigma \geq \tau$  and  $g > \tau$ . If

$$p \frac{(h - \sigma)^{h - \sigma}}{m^m (h - \sigma - m)^{h - \sigma - m}} > a + b, \quad (2.41)$$

$$q \frac{(g + m)^{g + m}}{m^m g^g} > 1 \quad \text{when } m \text{ is odd} \quad (2.42)$$

and

$$q \frac{(g - \tau + m)^{g - \tau + m}}{m^m (g - \tau)^{g - \tau}} > a + b \quad \text{when } m \text{ is even}, \quad (2.43)$$

then (2.34) is oscillatory.

**PROOF.** For  $\lambda \neq 1$ , we have

$$\frac{F_{10}(\lambda)\lambda^{-\sigma}}{(\lambda - 1)^m} = \frac{q\lambda^{-g-\sigma} + p\lambda^{h-\sigma}}{(\lambda - 1)^m} + \lambda^{-\sigma} - a\lambda^{\tau-\sigma} - b. \quad (2.44)$$

We consider the following three cases:

**Case 1.**  $m$  is even or odd and  $\lambda > 1$ . It follows from (2.44) that

$$\frac{F_{10}(\lambda)\lambda^{-\sigma}}{(\lambda - 1)^m} \geq p \frac{\lambda^{h-\sigma}}{(\lambda - 1)^m} - a - b \geq p \frac{\left(\frac{h-\sigma}{h-\sigma-m}\right)^{h-\sigma}}{\left(\frac{m}{h-\sigma-m}\right)^m} - a - b > 0.$$

**Case 2.**  $m$  is odd and  $0 < \lambda < 1$ . From (2.36), it follows that

$$\begin{aligned} -\frac{F_{10}(\lambda)}{(\lambda - 1)^m} &= \frac{F_{10}(\lambda)}{(1 - \lambda)^m} = \frac{q\lambda^{-g} + p\lambda^h}{(1 - \lambda)^m} - 1 + a\lambda^\tau + b\lambda^\sigma \\ &\geq q \frac{\lambda^{-g}}{(1 - \lambda)^m} - 1 \geq q \frac{\left(\frac{g}{g+m}\right)^{-g}}{\left(\frac{m}{g+m}\right)^m} - 1 > 0. \end{aligned}$$

**Case 3.**  $m$  is even and  $0 < \lambda < 1$ . In this case, we find

$$\begin{aligned} \frac{F_{10}(\lambda)\lambda^\tau}{(\lambda - 1)^m} &= \frac{F_{10}(\lambda)\lambda^\tau}{(1 - \lambda)^m} = \frac{q\lambda^{-(g-\tau)} + p\lambda^{h+\tau}}{(1 - \lambda)^m} + \lambda^\tau - a\lambda^{2\tau} - b\lambda^{\tau+\sigma} \\ &\geq q \frac{\lambda^{-(g-\tau)}}{(1 - \lambda)^m} - a - b \geq q \frac{\left(\frac{g-\tau}{g-\tau+m}\right)^{-(g-\tau)}}{\left(\frac{m}{g-\tau+m}\right)^m} - a - b > 0. \end{aligned}$$

The rest of the proof is similar to that of Theorem 2.8 and hence omitted. ■

### 3. Some General Remarks

1. For  $m = 1$  each theorem presented above concludes that the equation

$$\Delta x(k) + qx[k - g] = 0, \quad (3.1)$$

where  $q$  and  $g$  are positive real constants, is oscillatory if

$$q \frac{(g + 1)^{g+1}}{g^g} > 1. \quad (3.2)$$

Condition (3.2) is the well-known sufficient condition for the oscillation of (3.1), see [9].

2. From the proof of Theorem 2.1, it is clear that the condition (2.4) can be replaced by

$$q \frac{(g + \sigma + m)^{g+\sigma+m}}{m^m (g + \sigma)^{g+\sigma}} > b \quad \text{if } m \text{ is even.} \quad (3.3)$$

Now, if  $a = b = 0$ , we find that the even order equations

$$\Delta^m x(k) + qx[k - g] = 0, \quad (q > 0 \text{ and } g \geq 0)$$

$$\Delta^m x(k) + px[k + h] = 0 \quad (p > 0 \text{ and } h \geq 0)$$

and the mixed equation

$$\Delta^m x(k) + qx[k - g] + px[k + h] = 0 \quad (p > 0, q \geq 0 \text{ or } p \geq 0, q > 0 \text{ and } g, h \geq 0)$$

are oscillatory with no extra conditions on  $p$ ,  $q$ ,  $g$  and  $h$  except those given above. This conclusion can also be drawn from other results.

3. It is easy to construct examples to see that Theorems 2.1 – 2.10 are either improved, or complement our earlier results in [2,3,6].

4. The technique employed here can be used further to establish more oscillation criteria for the equations considered in this paper, and also when  $p$  and  $q$  are negative real numbers.

## References

1. R.P. Agarwal, *Difference Equations and Inequalities*, Second Edition, Marcel Dekker, New York, 2000.
2. R.P. Agarwal and S.R. Grace, Oscillation of certain difference equations, *Mathl. Comput. Modelling* **29**(1999), 1–8.
3. R.P. Agarwal, S.R. Grace and D. O'Regan, *Oscillation Theory for Difference and Functional Differential Equations*, Kluwer, Dordrecht, 2000.
4. S.R. Grace, Oscillation criteria for  $n$ th order neutral functional differential equations, *J. Math. Anal. Appl.* **184**(1994), 44–55.
5. S.R. Grace, Oscillation of mixed neutral functional differential equations, *J. Math. Anal. Appl.* **80**(1994), 1–13.
6. S.R. Grace, Oscillation of certain neutral difference equations of mixed type, *J. Math. Anal. Appl.* **224**(1998), 241–254.
7. S.R. Grace and B.S. Lalli, Oscillation theorems for forced neutral difference equations, *J. Math. Anal. Appl.* **187**(1994), 91–106.
8. S.R. Grace and B.S. Lalli, Oscillation theorems for second order delay and neutral difference equations. *Utilitas Math.* **45**(1994), 197–211.
9. I. Györi and G. Ladas, *Oscillation Theory of Delay Differential Equations*, Oxford Science Publications, Oxford, 1991.
10. V.L. Kocic and G. Ladas, *Global Behavior of Nonlinear Difference Equations of Higher Order with Applications*, Kluwer, Dordrecht, 1993.